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_Adding whole tens to a 3-digit number

Grade 2 Addition Workshest

Fird the sum,

979 + 20

1

3 351 + 80

t

5 896 + 10

#

H

7 580 + 50

9 699 + 70 =

1y 731 + B0 =

13 735 + 70

i

18) 772 + 80 =

g
—
<<
‘{b
1
S
i

19 554 + 40

i

2)

4

6)

8)

12)

14}

16)

200

232 + 80

423 + 70

291 + 70

a1t + 80

563 + 70

737 + 20

723 + 40

498 + 20

955 + 50

503 + 50

#

i

i

L]

o

i

it

i
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Adding whole tens to a 3-digit number

Grade 2 Addition Worksheet

Firud the sum.
1) 880 + 20 =

3 274 + 20

i

5 958 + 80

i

342 + 70

it

9 663 + 30

1) 378 + 80 =

13) 610 + 30

i

i

15) BY8 + 50

1A 1 o Y b S . 1 Ao Wi AR RN

it

17) 367 + 40

i

18} 305 + 40

2}

4)

6)

8)

10)

12)

14}

16)

18)

203

575

191

555

917

189

418

579

880

759

800

H

+ 70

4+ B m

+ 20 =

U

+ 70

+ 30

i

+ 70

4 40 =

i

+ 80

+ 20 =

Onlire reading & math for K-5
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Subtraction with numbers up to 20,
no regrouping |
Grade 2 Subtraction Worksheet

Find the difference,

)20 - 10 = 213 -3=
)11 -1= ” H1-t=
l@ﬁwgw 6) 16 - 0 =
Ne-5= | | 2 -1=
9 5.2= | MM -0=
MA3 « 1= o r-3=
136 - 2 = 14) 14 - 3 =
B3 -1= 2-2=
N3 -2 = 4.1 =
1910 - 0 = | 2005 . 1 =

Onfine maz;!'in_g & math for K-5 | www kSlearning com



Subtraction with numbers up to 20,
no regrouping
Grade 2 Subtraction Worksheet

Find the difference.

17 - 5 = 29 13-0=
N4-1= H2-1=
5 19 -3 = 6 9-4=
nM3-2= _®15.4=
9 1.1 = e 082 =
m14 -2 = 1210 - 0 =
W2-2=_ M3 -2=
15) 15 - 2 =  ®)5-.2=
M3 -1 = 18)7 - 3 =
19)12 - 1 = 2009 -2 =

h for K5 wwn klearming com

Online reading & mat
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Mixed addition / subtraction {(within 20)

Girade 2 Word Problems Worksheet

Read arud answer sach question.

Ashley, Bob and Clara
1.
Q .

i

8

@ playing 3 cerd gare

Each of them get 6 tards. How many cards do they have in fotal?

Bob passes 7 cards to Ashley and draws 5 cards for himself. How many gards
does Bob hava?

After Ashiey recelves 2 sards from Dave and then picks up 3 mgre cards. How
many cards does Ashisy now have?

Clara puts down a pair of cards from her hand and passes 3 cards fo Bob. How
many cards does Clara has?

Ashley has 3 more cards than Bob. If Bob has 8 cards, how many ¢ards ¢o they
have together?

Write the number sentence that fits this: 'If Clara has 14 gards ang Ashley has 5
cards, Ashley has © less ¢ards than Clara "

Cdine seading & math for K-8 © www kBlearning.com
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Mixed addition / subtraction (within 20)

Girade 2 Word Problems Warkshest

Fead and answer each question,

it is the end of the surmmer. The schon! is getting ready for the new school year. There
are 19 alassrooms in the school.

1.

Om the ground floor, there are B classrooms tha rest of the classrooms are on
the first floor. How marty classtooms are thare on the first floor?

Just, 12 reoms are painted.

15 ¢f the clagsrooms needs 1o be painted. By mid
How many classrooms are left to be painted?

There are 14 chairs in Mz, Bloom's glassroom and there gre 3 more ¢hairs in Mr
Ampld’s classroom. How many chairs are there in Mr. Amold's classroom?

There are 6 benches in the gym but 2 of them sre broken. Therefore, the office
orderad 4 more new benches. How m good benches will be there in the gym?

12 new lockars are delivered 1o the school but 3 of them come In the wrong size.
‘The lockers with the right size are to be put on the first floor, Together with the
old 4 lockers an the first floor, how many lockers are there in total on the 1
floar?

Write the nurmber sentence that fits this: “The ibrary has 12 chairs and there are
4 less chairs in the school office. Compared o the school office, there & less
ghairs i the principal’s office, $0 thare must be 3 cheirs Inthe principal’s office ™

Ordine reading & math for K-8 @ www kblgarmino.com



